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Equations Linéaires (C)

2c+6=14

3b+5=17

. 3z242=29

.2c+6=6

3y+3=18

Trouvez la valeur de chaque variable.

6. 3v+8 =32 11
7.2v+9 =21 12
8. 27—6=28 13
9. 3v+9 =27 14
10. 2a+5 =23 15

L 2z—6=2

C3v+1 =7

.2a+3=7

2u+10=16

3x—6=15
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Equations Linéaires (C) Solutions

. 2c+6=14
c=4

3b+5=17
b=4

.3z4+2=29
=9

. 2c+6=6
c=0

3y+3=18

y=35

Trouvez la valeur de chaque variable.

6.

10.

3v+8=32
v=28
2v+9 =21
v==56
22—6=28
z="7
. 3v4+9=27
v==56
2a+5=23
a=9

11.

12.

13.

14.

15.

27—6=2
z=4

3v+1=7
yv=2

2a+3=7
a=?2

2u+10=16
u=23

3x—6=15
x="77
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